
��������	
��
�����������������
�������������������� ���!"�#$%&'�()�*$+$,-.�/0%%1%$23+4�567&%$-�8925�&+4$,�92+$229-�:9-$5�&2�+4$�567&%$;�7,$-$2+�-79<$�7,&:%$*-=�>&,�*92?�9*9+$0,-.�-0<4�92+$229-�9,$-6*7%?�+&&�%&23�+&�/6+�'6+462�+4$�*&5$,2�0,:92�925�-0:0,:92�?9,5-=�@&�+4$�92+$229�:06%5$,�:$362-�+&�+462A�&/�'9?-�+&�-4&,+$2�+4$�567&%$=�B4$C0$-+6&2-�-0,,&025623�-4&,+$2$5�92+$229-�9,$�<&*7%$D=�@&*$�62E&%E$�7$,/&,*92<$�%$E$%-�<&*79,$5�+&�+4$�/0%%1%$23+4�567&%$=�F+4$,-�<&2<$,2�+4$,$%9+6E$�$//6<6$2<?�&/�92+$229-�+49+�0-$�56//$,$2+�*$92-�&/�-4&,+$2623=�G2&+4$,�3,&07�&/�C0$-+6&2-�/&<0-�&2�+4$�*$<4926<9%�6--0$-�<,$9+$5�:?E9,6&0-�*$+4&5-�&/�-4&,+$2623=�H&,$&E$,.�+4$,$�9,$�90D6%69,?�*9++$,-.�-0<4�9-�*9+<4623�+4$�-4&,+$2$5�92+$229�+&�&2$�&/�+4$�-+9259,5�/$$5%62$-�62<&**&2�0-$=B&�$D7%&,$�+4$-$�C0$-+6&2-�62�9�-&*$'49+�-?-+$*9+6<�*922$,.�'$�-49%%�76<A�9�-623%$�92+$229�%$23+4�&2�9�-623%$�9*9+$0,�:925=�I)�*$+$,-�8J=)�+&J=K�HLM�62�+4$�N=@=;�6-�4925?.�-62<$�+4$�9E$,93$�567&%$�%$23+4�6-�62�+4$�E6<626+?�&/�OJP.�Q0-+�&2�+4$�E$,3$�&/�/6++623�&,�2&+�/6++623�9�+?76<9%�:9<A�?9,5=R$+P-�0-$�9�49%/1%$23+4�567&%$�925�-$+�6+-�%$23+4�9+�9�/6D$5�E9%0$�&/�KKP�/&,�&0,�$D7%&,9+6&2-=�H&-+�&/�&0,�92+$229-�'6%%�0-$�GST�UV(�8)=)W)WX569*$+$,;�<&77$,�'6,$=�S6+4�+4$-$�-6*7%$�7,$*6-$-.�'$�<92�$D9*62$�9�*?,695�&/�'9?-�&/�-4&,+$2623�567&%$-.�62<%05623�:0+�2&+�%6*6+$5�+&.�/&%5623:9<A�+4$�$%$*$2+-.�0-623�6250<+6E$�%&95-�9+�+4$�567&%$�<$2+$,�&,�9%&23�+4$�$%$*$2+�%$23+4.�0-623�$25�X49+X�%&95-�&,�$%$*$2+�$D+$2-6&2-.�925$*7%&?623�N�925�&+4$,�-497$-=�Y9<4�9%+$,29+6E$�*$+4&5�&/�-4&,+$2623�+4$�%$23+4�&/�9�567&%$�49-�6+-�&'2�<%0-+$,�&/�E9,69+6&2-.�6+-�&'2�-$+�&/6--0$-.�925�6+-�&'2�-$+�&/�<&2-$C0$2<$-.�/&,�$D9*7%$.�'4$2�<&2-+,0<+623�:9-6<�79,9-6+6<�:$9*-�'6+4�49%/1%$23+4�$%$*$2+-B46-�-$,6$-�&/�Z[>�5&<0*$2+-�+,6$-�+&�$D7%&,$�+4$�:9-6<�+$,,6+&,?�62�92�&,5$,%?�/9-46&2.�:$3622623�'6+4�+4$�5$E$%&7*$2+�&/�:9-6<�7,&7$,+6$-�&/�/0%%-6M$�$%$*$2+-�+&�/&,*�9�:9-$%62$�'6+4�'46<4�'$�<92�<&*79,$�E9,6&0-�+$<426C0$-�&/�-4&,+$2623=�B4$�2$D+�-+$7�6-�+&�%&&A�9+�+4$�7$,/&,*92<$7&+$2+69%�&/�-4&,+$2$5�$%$*$2+-�925�$D7%&,$�9�/$'�'9?-�62�'46<4�9*9+$0,-�49E$�-6*7%?�/&%5$5�925�:$2+�/0%%�-6M$�$%$*$2+-�+&�/6+�9�49%/1-6M$�-79<$=G<+09%�-4&,+$2623�+9A$-�0-�62+&�+4$�,$9%*�&/�$%$*$2+�%&95623�0-623�6250<+6E$�925�&+4$,�*$+4&5-�+&�,$-&29+$�9�49%/1%$23+4�$%$*$2+=�B4$�%9-+�-+$7�6-+&�%&&A�9+�-&*$�<&2-$C0$2<$-�&/�$%$*$2+�-4&,+$2623�/&,�+4$�5$-632�925�7$,/&,*92<$�&/�56,$<+6&29%�:$9*-=@62<$�$9<4�2$'�-+$7�*9A$-�0-$�&/�62/&,*9+6&2�5$E$%&7$5�62�+4$�7,$E6&0-�-+$7.�?&0�*9?�'6-4�+&�A$$7�$9,%6$,�$76-&5$-�&7$2�'46%$�,$95623�+4$2$'�&2$=�B&�,$+0,2�+&�+46-�*9-+$,�793$.�0-$�?&0,�:,&'-$,P-�X7,$E6&0-�793$X�:0++&2.�-62<$�Z[>�5&<0*$2+-�49E$�2&�,$95?�*$92-�/&,�,$+0,2623�+&+46-�793$=�B4$�+6+%$-�/&,�$9<4�&/�+4$�$76-&5$-�-4&0%5�:?�-$%/1$D7%929+&,?=Z9,+�V\�B4$�>0%%1R$23+4�@+9259,5Z9,+�(\�@4&,+$2623�925�]$-497623�+4$�[67&%$Z9,+�K\�Y%$*$2+�R&95623�+&�G<46$E$�[67&%$�]$-&292<$Z9,+�I\�#9-6<�R&95$51Y%$*$2+�Z9,9-6+6<�#$9*-H&-+�&/�+4$�*9+$,69%�49-�977$9,$5�62�&+4$,�9,+6<%$-�9+�+46-�-6+$.�:0+�025$,�9�-<9++$,$5�<&%%$<+6&2�&/�-7$<6/6<�+&76<-�925�9+�56//$,$2+�+$-+�/,$C0$2<6$-=[,9'623�+4$�65$9-�+&3$+4$,�*9?�7,&E65$�?&0�'6+4�9�*&,$�<&4$-6E$�025$,-+925623�&/�+4$�7,62<67%$-�62E&%E$5�62�,956<9%%?�-4&,+$2623�9�567&%$�925&:+962623�+4$�:$-+�7&--6:%$�7$,/&,*92<$�/,&*�6+=�T&�+&�̂25$D


